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PN HEX A
H: AIEX SN (ASEX/HAHEXH)
¢ FOUMBIA MEMHA 2SH CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A2k X| 2 0t 17,554,480 16,777,238 777,242
= 10,733,204
Al 2,474,109
s 4,347,167
MEISX SEXN(AMISX/HLHESKE) 2,769,845 2,944,694 A 174,849
= 908,048
Al 676,130
s 1,185,667
FUAMHIA MEMAH 2= 1,618,559 1,779,561 A 161,002
= 879,619
Al 294,469
2 444,471
FOUMTAMEA EF 55,084 43,884 11,200
201 Let24d] 17,384 17,384 0
01 At 22/l 15,560 15,560 0
ot~ 15,560
O=XHEAM HA 4,000,000 4,000
O=8MHA w2 WM HME 5,320,000 5,320
O=g=EXags 25 7
30,0003 «1300 2128 4,680
O=a=sEXags FI| 22
30,0003 #1300 & +42 D| 1,560
02 =224l 1,824 1,824 0
03323 2 HA 1,824
OUESUHE Hate3 76,0003 «2CHx12& 1,824
202 O4dl 8,400 8,400 0
01 = LH 4 Hi 8,400 8,400 0
O22 Kbl 8,400,000 8,400
203 YR =2l 5,500 5,500 0
03 A BFAH S =AY 5,500 5,500 0
Oz H2FA 5,500,000 5,500
204 MR F | 13,800 12,600 1,200
03 EZY R 13,800 12,600 1,200
O sl 50,000& «23H «12& 13,800
301 et d s 10,000 0 10,000
10 #ALAHI 2 A3 10,000 0 10,000
OAZEXAE 2EA] H&XAHE
10,000, 000& 10,000
NEAs=XE2AN 29 107,330 202,945 A 95,615
307 glz2tol & 107,330 202,945 A 95,615
02 RIZHE A E X 107,330 202,945 A 95,615
OXS At =X EAM X 107,330
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= 21,000
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Al 21,000
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201 Bt 1,000 1,000 0
01 AP 2t 2| H| 1,000 1,000 0
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O UYFHEXAHA S22
100, 000& x200H 20,000
KA MBI AEXAY (BIRH X 2) 1,253,595 1,357,537 A 103,942
= 879,619
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OKXNGANSAEBIAEXNAIE 22 Hl 2,000,000 2,000
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OXI=SMA B8 = 18,570, 000& 18,570
= 9,285
e 9,285
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02 8323l 3,665 3,510 155
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Al 3,665
03 A2 Z Hl 15,077 15,077 0
ONASAHAES L 24535t 15,077
OXJSAMI F324 A 7,000,000& 7,000
Al 7,000
OXASAMN Edst 228 29|
8,077,000& 8,077
Al 8,077
307 glz2tol & 3,000 3,000 0
Al 3,000
02 RIZHE A E X 3,000 3,000 0
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Al 3,000
NG SAEEH 29 188,109 44,784 143,325
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
04 JI2ZtHZ22HEE =+ 15,501 14,676 825
O3 SALdE 29 15,501
OoJlzs 38,8803 «1H 208 8,088
Osg=+¥ 38,8803 «1H +962 3,733
O= &l 5,000% 18 %2082 1,040
Oul SH| 5,000 »1H 2082 1,040
O&E=¢ 800
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. EHIE 20,0002 2"« 108 400
OZ 2 FtHl 400,000& 1 »23] 800
201 et 24,008 11,408 12,600
01 At 22l 10,808 10,208 600
O Et=EH| 8,408
OXNESA EES M (I L2
2,000,000 2,000
ONZSMUEH 22835 +2 2,400,000 2,400
OXNASAMHAE Mo 2 L0003 x4=*12& 240
ONtASMES 425 7E
26,4003 x105+12& 3,168
O&==ClMCO SIH HZ 50,000 =12 Al CH 600
o=24d+¢ 2,400
OXEASAMN 22WF A=<
500, 000& »23] 1,000
Oft2SMNEgdAdz &+
70,000 *10H »23] 1,400
02 2324l 1,200 1,200 0
o0332= % HAl 1,200
ONZSMUEH 83tz 50,0003 «20H«12 1,200
03 #AL2EHI 12,000 0 12,000
OX&SALCHE 12,000,000& 12,000
206 T2 HI 15,000 9,000 6,000
01 =4l 15,000 9,000 6,000
OAE &2l AHY MZHl 500,000 302 15,000
301 AP B A 11,200 9,700 1,500
10 HALAHI 242 9,700 8,200 1,500
ONEASAH EHA 2&t 10,000& 253 x303] 7,500
OXJASALA MOILE & A3 & A
100,000 & x2H 2 33| 1,200
OX=TASAMIAUHE S A
100,000& x5H 22 13| 1,000
12JE 24 = 1,500 1,500 0
OXNFEEAN SRO(XNECR) sS4
10,0003 x15% «103! 1,500
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S UHSA 2HS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 120,000 0 120,000
01 RIZERt2E X 120,000 0 120,000
OMASHU =HEZ MM
10,000, 000& =12l CH 120,000
405 XHoHE S HI 2,400 0 2,400
01 AL EZFH S 2,400 0 2,400
ONASAEEH BRH ¢ 1,200,000 *2CH 2,400
SEE NSMA &4 12,100 8,370 3,730
201 et 3,200 2,070 1,130
01 At 221l 3,200 2,070 1,130
O Eet=EH| 700
O8=+Y 50,000& =124 600
O A& Q1 3t 100,000 100
o2d+g 500
O A= 500,000 500
oxg exz 500,000 =43l 2,000
206 M= Hl 4,700 2,700 2,000
01 =4l 4,700 2,700 2,000
OEE NESA Mz 2 4,700
O DFALX 10,000& *30H 43| 1,200
OZHOtE 5,000 «20H x4 3] 400
oolI=a AME 15,000& »20H »23] 600
Osst+d 500,000& 500
ostsll 8 2,000,000 2,000
301 LAz 4,200 3,600 600
10 HALAHI 242 4,200 3,600 600
OXEE ANSA It EAS
10,000 359 x 123 4,200
ZFoHw3 24 5,480 5,480 0
Al 4,040
[ia 1,440
201 Let24d] 5,480 5,480 0
Al 4,040
[ia 1,440
01 At 2teltl 2,600 2,600 0
OFE¥W3 23l 2,600,000 2,600
Al 2,600
02 =224l 2,880 2,880 0
OFEYW 23RS 2,880,000& 2,880
Al 1,440
[ia 1,440
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M X 0t

H: AT =2X SSXNS(AAEXN/FHSAHASKH)
e XANFSAF 243 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZCOEB 29 67,635 63,281 4,354
403 XX SHHS K20 & 67,635 63,281 4,354
02 SISO CHSCHE AL HI 67,635 63,281 4,354
OFC0 &9 67,635,000 67,635
Hed Xt = 17,900 9,250 8,650
SHed AFREXE & AMBl & e XF 4l K& 17,900 9,250 8,650
301 et A= 17,900 9,250 8,650
01 Al B & A 462 17,900 9,250 8,650
OSHAANLA JIHEXN L H2Y AISE
800,000 x10H 8,000
OdAANLX HH B 4,900,000& 4,900
OHHAANXUX AE2Z2D= 1,100,000 x4 3| 4,400
Ostied A HE WL 20,000 *2 5H x12& 600
=2) & 22 & XN (AMaI=EXN/BEE) 798,900 813,472 N 14,572
EEMAANYE 4 798,900 813,472 N 14,572
BECH & 224 A 798,900 813,472 N 14,572
201 LBt Y| 3,200 3,200 0
01 AP 22| d| 3,200 2,000 1,200
OYbt4=24| 3,200
OE&EoY 22 HZ 1,000,000& 1,000
O &8 AL stet 2¢ 1,000,000 1,000
OE =32 ROIAHIANAEY =&
1,200,000 1,200
301 et A= 620,660 618,380 2,280
01 Al B & X 26 2 587,280 588,000 AT20
OFEFZEA XN 587,280
oYU 90,000 43| *1,548H 557,280
OAME2RZ2 300,000& 1004 30,000
10 HAFAHI B a2 5,380 2,380 3,000
OMUE J|ESHA A AHIEN
70,000& =17 Al CH 1,190
OZ=EE J|EHA AKX AHIEN
70,000& =17 Ml CH 1,190
ON SE=J EHIMHA ZHAX AHEA
3,000,000 3,000
12 JIEtE A2 28,000 28,000 0
ST U SLLEINE J2(L,FH)
40,0002 *350H #23| 28,000
307 2Iz2t0| & 115,040 116,650 A 1,610
02 QI2tA A X 115,040 116,650 A 1,610
OEEZ3 & < oHs A} 24,000,000 24,000




SN METAD
FH: 2t B 22 L N (AMI=X/E2E)
S9l: BEMUANY B
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O=H3ld Atgte 24| 1,000,000 1,000
O 318 JIEEHAL & 2= MHESA
12,000,000 12,000
O&= 3.1&2 IS A 3,300,000& 3,300
OEHANZE SHN2S M HA 13,000, 000& 13,000
O=Jts3x & ALH 6,600,000 6,600
O8&Y 2JR3A S A 15,340,000& 15,340
O0z=0c8 dIEX &=d 29,800,000& 29,800
Oot=E Aol HAlIRICHS 10,000, 000& 10,000
402 RIZ2FRt20l ™ 60,000 1,000
01 RIZEAt2E X 60,000 1,000
OX&EFE 3.123 MAHl 0 & 60,000,000 60,000
HASE Moty XN (MIASX/I=MEBE) 12,453,773 11,560, 456
= 9,825,156
Al 1,308,348
= 1,320,269
QDI ZMESFHAY 10,314,336 9,482,396
= 8,159,011
Al 1,073,011
[ia 1,082,314
Jlxzdg 22X# 4,903 4,903
201 Let24d] 4,903 4,903
01 At 22l 2,700 2,700
CEIETES= 4] 2,000
OSXUAT 2AZ20/ AHH HAlol
80& x12,50004 1,000
OSXUaT 28 BE23 M
80& x12,50004 1,000
ORI+ 700
OJIzdg2da 4
,000& x5 H »23] 700
02 2324l 2,203 2,203
o0zE2= & HA 2,203
OsE= & 25 RHER 2,203,000 2,203
HH =N 7,850,833 7,191,441
= 6,280,667
Al 785,083
s 785,083
301 L2 LS 7,850,833 7,191,441
= 6,280,667
Al 785,083
s 785,083
01 MEIBZE 063 7,850,833 7,191,441
OMA =M (3,520%) 7,850,833,000& 7,850,833




PN HEX A
M NASS Ma0d XNA(MISI/I=HEEE)
el O Z MBI CER-ED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 6,280,667
Al 785,083
e 785,083
FH=N 1,478,152 1,346,307 131,845
= 1,182,522
Al 147,815
e 147,815
301 et a = 1,412,152 1,280,307 131,845
= 1,129,722
Al 141,215
s 141,215
01 M3IBZE 2053 1,412,152 1,280,307 131,845
==04(3,400%) 1,412,152,000& 1,412,152
= 1,129,722
Al 141,215
s 141,215
402 RI2FXt20l 66,000 66,000 0
= 52,800
Al 6,600
s 6,600
02 BI2HCH & A& HI 66,000 66,000 0
OFHEESH(E2lAte)
1,650,000& 400t + 66,000
= 52,800
Al 6,600
s 6,600
nEg0¢ 311,012 305,330 5,682
= 248,810
Al 31,101
s 31,101
301 e A3z 311,012 305,330 5,682
= 248,810
Al 31,101
[ia 31,101
01 Ml28E 6= 311,012 305,330 5,682
On=Z0(448%) 311,012,000& 311,012
= 248,810
Al 31,101
e 31,101
(o RSP F=0: 93,500 69,992 23,508
= 74,800
Al 9,350
s 9,350
301 et d = 93,500 69,992 23,508
= 74,800
Al 9,350
i 9,350
01 MEIBEZE 405z 93,500 69,992 23,508
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2 FUINZUESTAY (22 &d)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
OdHat= 04 (10Y) 7,000,000& 7,000
= 5,600
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OZMS0(130¢) 86,500,000& 86,500
- 69,200
Al 8,650
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==\ 175,560 214,722 A 39,162
= 140,448
Al 17,556
s 17,556
301 gEtE A= 175,560 214,722 A 39,162
= 140,448
Al 17,556
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01 A28 H 6= 175,560 214,722 N 39,162
OFdl=E-PNEPNE- 175,560,000 175,560
2 140,448
Al 17,556
= 17,556
IEMELSN HRYBHOIX A 124,000 117,431 6,569
= 124,000
301 LEE A S 124,000 117,431 6,569
= 124,000
01 M2 H 203 124,000 117,431 6,569
OJ=Mag Xt FRLIl XA (5,8569)
124,000,000& 124,000
= 124,000
AaAE FRLIAXH 59,250 46,349 12,901
= 47,400
Al 5,925
s 5,925
301 LprE A 59,250 46,349 12,901
= 47,400
Al 5,925
= 5,925
01 AR 2ZH =53 59,250 46,349 12,901
OX&ANE AT X2 (2,317Y)
59,250,000 59,250
= 47,400
Al 5,925
[Ea 5,925
A HE =02 E28E N2 50,400 50,400 0
301 2ELE A= 50,400 50,400 0
01 M2 X +0l= 50,400 50,400 0
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M=

161,700
129,360
16,170
16,170

130,008

31,692

oXgAsSSH(HEHEAS) 161,700,000

M= 4

161,700

161,700
129,360
16,170
16,170

130,008

31,692

H= 4

90,365
72,292
9,037
9,036

84,315

6,050

H =4

90,365
72,292
9,037
9,036

84,315

6,050

OslYIISSHEAMY 90,365,000&

H= 41

90,365

90,365
72,292
9,037
9,036

84,315

6,050

M=

134,299
94,009
20,145
20,145

, 186

25,113

307 21201 &

M=

134,299
94,009
20,145
20,145

, 186

25,113

Et
2HEHYESAHHAALS 134,299,000

M= 4

134,299
134,299

94,009
20,145
20,145

, 186

25,113

02
o
0
02
oy
=
0z
e

237,739

,639

27,100

125,207

,243

18,964

125,207

,243

18,964

125,207

,243

18,964

121,604

,243

15,361




A MEXH D
M. HESHHH (ME XS D)(IIEHDIE
Crol: ol 2oy (ME X E D) (sl &2)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OANZHAZRE 9,383 & x45A| 2tx24H x 12 121,604
02 JIEF& &2 %= 3,603 0 3,603
OANLDRAE (H L)
B7 1> *45A] 21«12 3,603
Jl2ZH (MEX D) 112,532 104,396 8,136
Jl2 &4l 112,532 104,396 8,136
201 et 39,212 36,836 2,376
01 AP 2t 2] H| 39,212 36,836 2,376
Ogt4L2H| 15,020
OsdHUMSH 15,020,000 15,020
(OF=1={s] 24,192
Osd%ia=2d 24,192,000 24,192
202 o4l 69,120 63,360 5,760
01 2Ll 69,120 63,360 5,760
O 2L 4 1| 69, 120,000& 69,120
203 €2 F=&d| 4,200 4,200 0
04 EANSIE LR F=XH| 4,200 4,200 0
ORMNSI LR 350,000 x12& 4,200
HESS(MEX ) (AL X /AL 2 X e 1,294,223 1,220,137 74,086
Al 489,631
= 804,592
HWEHH XS (ME XS ) 1,294,223 1,220,137 74,086
Al 489,631
= 804,592
A2 2 29 1,194,223 1,220,137 N25,914
Al 489,631
= 704,592
309 =2 1,194,223 1,220,137 N25,914
Al 489,631
= 704,592
02 BAl- 2HINNEZ 1,194,223 1,220,137 N25,914
OKNEZE A =X 2 342,416,000 342,416
Al 140,391
= 202,025
oOYdEse A 22X 358,076,000& 358,076
Al 146,811
= 211,265
o=z At =2X 2 493,731,000 493,731
Al 202,429
= 291,302
28s2 100,000 0 100,000
702 D128 =2 100,000 0 100,000




SN METED
HE: GRS (MEXAD) (MBS /AE SR L)
Sl LIS HHKE(MER R D)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

100,000

100,000, 000& 100,000




